Numbers and Operations level 1(b)

1) Complete this 4) Evaluate 7)a) 45+5=
multiplication table
p a) 2x1000 + 6x 100 b) 70=10=
+ 1
5|6 |9 |2]| 7 ) S54+9 =
d 20+4 =
b) 4x10 + 2x 1000
+7 + 9x100
11 8)a) 19-12 =
b) 24-7 =
c) 6 x1000 + 8 B
+2x10 + 6x100 | © ©56-30 =
d 60-23 =
2) State the value of
the underlined digit. 9)a) (5+3)x3 =
5) Plot these points on ) ( )
a) 2973 the number line. b) (5-3)x5 =
a 1,5 c) 23-3x5 =
d 7+5x5 =
o + 2 34 5 ¢
b) 2369675 e) 6x3+1 =
f 6x(B+1) =

b) 3,1,5
9 (7+4)x2+2)

3) Arrange these ' =

numbers in ascending h) 20+ (2x5) =
order. 6)a) 23+ 20 = . . _
a) 254,75 ,283,95, 8 B ) 20=2x5 =
b) 17+7 = ) 4+5x2 =
c) 18+11=
b) 423,1635,56,32 | q) 26+ 108 =
e) 35+42 = 10) Convert 86 to

) 15+ 9 = Roman numerals.




